CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,10)*A19ME10_X,1(0)
+A135F10_x,1(A)

2 Alj 1,9398 -1,3466 0,4304 A£570)
D65:3X £10 x 1(1)=20,76
XF10 X_,1:0’3133
Yr10_x,1=0,3305
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CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,1A)*A12ME10_x,1(A)

2,0 Aqj
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+A13SF10_x,1A)
1,9398 -1,3466 0,4304 A£570)
D50:3% £1g x 1(M)=21,14
XF10 X_,1:0’3483
F10_x,150,3607
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CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,1A)*A12ME10_x,1(A)

2,0 Aqj
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+A13SF10_x,1A)
1,9398 -1,3466 0,4304 A£570)
P40:35X £19 x 1(\)=22,80
XF10 X_,1:0’3831
10_x,70,3775

500 600
wavelengthA /nm

BE461-1A 1




CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,1A)*A12ME10_x,1(A)

2,0 Aqj
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+A13SF10_x,1A)
1,9398 -1,3466 0,4304 A£570)
A00:ZR £10 x 1(N)=26,11
10 X, 1:0,4526
0_x 1=0,4086
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CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,1A)*A12ME10_x,1(A)

2,0 Aqj
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+A13SF10_x,1A)
1,9398 -1,3466 0,4304 A£570)
E00:3% £1g x 1(N)=22,62
XF10 X_,1:0’3331
F10_x,150,3330

500 600
wavelengthA /nm

BE461-1A 1




CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,10)*A19ME10_X,1(0)
+A135F10_x,1(A)

2 Alj 1,9398 -1,3466 0,4304 A£570)
CO0:3% 19 x 1(0)=20,80
XF10 XT1:0,3101
Yr10_x,:=0,3185
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CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,1A)*A12ME10_x,1(A)

2,0 Aqj
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+A13SF10_x,1A)
1,9398 -1,3466 0,4304 A£570)
P00:ZX £1q x 1(A)=23,32
XF10 X_’1:0,3616
10:)(’1:0,3533
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CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,1A)*A12ME10_x,1(A)

2,0 Aqj
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+A13SF10_x,1A)
1,9398 -1,3466 0,4304 A£570)
QO03X g10 x 4N)=22,27
XF10 X_,1:0’3054
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